



1675 Lakeland Drive, Suite 207 Jackson, Mississippi 39216 Office 601.977.8993 Fax 601.949.4344 www.allenhoshall.com

17 September 2018

SEP 19 2018 To: Garnet

Board of Mayor and Aldermen The City of Vicksburg, Mississippi P.O. Box 150 Vicksburg, Mississippi 39180

Re: Continuing Sewer Assessment Program - Year 2 Repairs Vicksburg, Mississippi

Gentlemen:

Enclosed is the Change Order No. 3 from Suncoast Infrastructures, Inc for the 60" Drain line on Ford Road. This will increase the contract amount by \$77,763.54 and add 30 days to the contract. The amended contract would increase from \$1,325,360.20 to \$1,403,120.74. We have reviewed and agree with the request as submitted by Suncoast Infrastructures, Inc.

Please let me know if you have any additional questions or need additional information.

Sincerely,

Allen & Hoshall

Chawanpon Bunniran, PE CPESC

Chawagan Dumman

Associate Principal

cbunniran@allenhoshall.com

601-813-3631

Enclosures

Mr. Garnet Van Norman, City of Vicksburg, w/ Enclosures

Suncoast Infrastructure, w/ enclosures





Contractor: Suncoast Infrastructure, Inc.

Project:

Owner:

1675 Lakeland Drive, Sulte 207 Jackson, Mississippi 39216 Office 601.977.8993 Fax 601.949.4344 www.allenhoshall.com

Date: 11 September 2018

CONTRACT AMENDMENT

NO. ___3__

Continuing Sewer Assessment Year 2 Repair

The Board of Mayor and Aldermen of The City of Vicksburg

The contract, dated <u>April 2, 20</u> below. Description of and reason for		bove listed parties, is hereby ar	nended as set forth
Change order is for 60-Inch Storm	Drain Pipe replace	ement on Ford Road as reques	led by the City.
2			
A detailed tabulation of change	es is shown on the	reverse side of this amendme	nt.
Contract Amount is Amend	led as Follows:	Contract Time is Amer	ided as Follows:
Present Contract Amount	<u>\$1,325,360.20</u>	Present Completion Date	15 September 2018
Net Change in Contract	\$77,763.54	Net Change-No. of Days	30
Amended Contract Amount	\$1,403,123.74	Amended Completion Date	15 October 2018
•		- s	,
_	00	2	
Recommend	led by Allen 8	Hoshall	
Approved by	Sunco	95 Rula ast infrastructure, Inc.	,,
Approved by			
Approved by	The Bo	oard of Mayor and Aldermen of The Cit	y of Vicksburg Owner

ITEM NO.	DESCRIPTION	PRESENT CONTRACT QUANTITY	NET CHANGE IN QUANTITY	NO. OF UNITS	C	ONTRACT A UNIT PRICE	AMOUNT TO READ	INCREASE OR DECREASE
1101								=
02950-5.06	Mobilization	1	0	1	\$	174,925.00	\$174,925.00	\$0.00
09910-6,01	8" CIPP Lined Pipe Spot Repair	75	0	75	\$	550.00	\$41,250.00	\$0.00
09910-6.03	8" CIPP Lined Pipe	5850	0	5850	\$	24.00	\$140,400.00	\$0.00
09910-6.05	12" CIPP Lined Pipe	250	0	250	\$	29.00	\$7,250.00	\$0.00
9910-6.06	15° CIPP Lined Pipe	450	0	450	\$	45.00	\$20,250.00	\$0.00
09910-6.07	15" CIPP Lined Storm Pipe	50	0	50	\$	85.00	\$4,250.00	\$0.00
2400-5.01	24" Storm HP Drain Pipe (16'-24' Deep)	40	0	40	\$	1,300.00	\$52,000.00	\$0.00
2532-5.01	Raise Manhole to Grade >5"	15	0	15	\$	900.00	\$13,500.00	\$0.00
2532-5.02	Raise Manhole to Grade >18*	17	0	17	5	1,100.00	\$18,700.00	\$0.00
2532-5.03	New Manhole	3	0	3	\$	15,000.00	\$45,000.00	\$0.00
2532-5.03	18° Headwall	1	0	1	\$	4,000.00	\$4,000.00	\$0.00
2533-6.01	Rehab Existing Inlet	1	0	1	3	1,600.00	\$1,600.00	\$0.00
02540-5.01	Point Repair 6°-10° Main (0'-6' Deep)	200	0	200	\$	680.00	\$136,000.00	\$0.00
2540-5.01	Point Repair 6"-10" Main (6'-10' Deep)	500	0	500	5	625.00	\$312,500.00	\$0.00
2540-5.03	Point Repair 6"-10" Main (0"-15" Deep)	100	0	100	8	500.00	\$50,000.00	\$0.00
	Point Repair 6"-10" Main (16"-20" Deep)	60	0	50	8	100.00	\$5,000.00	\$0.00
2540-5.04		20	0	20	\$	900.00	\$18,000.00	\$0.00
02540-5.05	Point Repair 18" Main (10'-15' Deep)	20	0	2	5	2,250.00	\$4,600.00	\$0.00
02540-5.06	15" Bypass Pumping		0	2	5	4,000.00	\$8,000.00	\$0.00
2540-5.07	16" Bypass Pumping	2 700		500	-	46.00	\$22,500.00	\$0.00
02540-5.05	Undercut and Backfill	500	0		\$			
02733-5.01	Pump Station	1	0	1	\$	40,500.00	\$40,500.00	\$0.00
02733-5.02	3" SDR 21 Force Main (Directional Bore)	175	0	175	\$	35.00	\$6,125.00	\$0,00
02950-5.01	Asphalt Paving (Remove and Replace)	900	0	900	8	5.00	\$4,500.00	\$0.00
02950-5.02	Concrete Paving (Remove and Replace)	900	0	900	\$	5.00	\$4,500.00	\$0.0
02950-5.03	CR 610 Base	1800	0	1800	\$	5.00	\$9,000.00	\$0.0
02960-5.04	Concrete Curb and Gutter (Remove and Replace)	800	0	800	\$	5.00	\$4,000.00	\$0.0
02950-5.05	Concrete Sidewalk (Remove and Replace)	1000	0	1000	\$	5.00	\$5,000.00	\$0.0
02950-5.06	Concrete Swale	65	0	65	\$	50.00	\$3,250.00	\$0.0
02921-5.01	Sod	6000	0	6000	\$	1.00	\$6,000.00	\$0.0
02950-5.08	Utility Relocation	1	0	1	\$	50,000.00	\$50,000.00	\$0.0
	Change Order Request #1							
	Remove Flush Tank	2	0	2	\$	1,800.00	\$3,600.00	\$0.0
	8" Relay of Ex. Line 20" to 50" Length (6-10" deep)	50	0	50	\$	419.00	\$20,950.00	\$0.0
	Connection to Ex. Manhole	2	0	2	\$	3,665.00	\$7,330.00	\$0.0
	18" CIPP Lined Pipe, Less than 200 LF	200	0	200	\$	208.60	\$41,720.00	\$0.0
	18° CIPP Lined Pipe, 200 LF up to 400 LF	200	0	200	\$	122.60	\$24,520.00	\$0.0
	Change Order Request #2						100	
	Service Line Reconnection	6	0	6	\$	2,456.70	\$14,740.20	\$0.0
	Change Order Request #3				Τ		188.00	
	Existing Pipe Removal	0	50	50	\$	99.38	\$4,969.00	\$4,969.0
	Spoll Removal	0	100	100	\$	18.63	\$1,863.00	\$1,863.0
	Existing Rip Rap Removal	0	80	80	\$	24.84	\$1,987.20	\$1,987.2
	ADS HP 60-Inch Pipe	0	62	62	\$	527.95	\$27,453.40	\$27,453.4
	Select FIII	0	100	100	\$	49.69	\$4,969.00	\$4,969.0
	80-Inch FES	0	2	2	\$	9,316.77	\$18,633.54	\$18,633.
	Rip Rap For Bank Stabilization	0	120	120	\$	149.07	\$17,888.40	\$17,888.
				-1			\$1,403,123.74	\$77,763.5

Change Order Request

Suncoast Infrastructure, Inc.

P.O. Box 397 Florence, MS 39073 Phone: 601-420-9682

Owner:

CITY OF VICKSBURG, MS

1413 WALNUT STREET VICKSBURG, MS 39180 Project:

S18045-

Continuing Sewer Assessment Year 2 Repairs

1401 Walnut Street

Vicksburg, MS 39180

PCOType: PCO

Suncoast is requesting an additional 30 days for delivery of pipe and installation.

It	em	, , ,		Quantity	UM	Unit Price	Amount
		Change Order Request:	# :	3 - 60-INCH STORM	DRAIN PIF	E	
	5-3	EXISTING PIPE REMOVAL		50.000	LF	99.38000	4,969.00
	5-4	SPOIL REMOVAL		100.000	CY	18.63000	1,863.00
	5-5	EXISTING RIP RAP REMOVAL		80.000	TON	24.84000	1,987.20
	5-6	ADS HP 60-INCH PIPE		52.000	LF	527.95000	27,453.40
	5-7	SELECT FILL		100.000	CY	49.69000	4,969.00
	5-8	60-INCH FES		2.000	EA	9,316.77000	18,633.54
	5-9	RIP RAP FOR BANK STABILIZATION		120.000	TON	149.07000	17,888.40
				Total Fo	or Change C	order	77,763.54

Approved By:	CITY OF VICKSBURG, MS	Submitted By:	Suncoast Infrastructure, Inc.
Signed:		Signed:	
Date:		Date:	